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MARUHIN A

C*** PROGRAM FOR ONE VARIABLE **C
C*** MAIN PROGRAM *** %%k ks k k% O
DIMENSION  Y(100), X(100) , ERR(100), U(2,1), H(2,2), HI(2,2) , HIU(2,1) , PI(100),
* M(4), PR(10), A(100,3)
INTEGER AA
COMMON IK
IX =97325
IK=0
C*** NUMBER OF SAMPLE ***% %%k ks kokok ok
DATA (M(IS), 1S=1,4)/20,40,60,80/
DO 100 IS=1,4
AA=M(IS)
C**% PROBILITY OF Y=] ****%skkkokskkonskkkk
DATA (PR(IP),IP=1,10)/50,55,60,65,70,75,80,85,90,95/
DO 200 IP=1,10
NN1=(PR(IP)*M(IS))/100
NNO=M(IS) - NN1
C*** AMOUNT OF LOQP *¥¥%skskokkskkskkesk ks kok O
LP=500
LOOP=2000000
DO 9 L=1,LOOP
C*** SET INITIAL PARAMETER ***#xxakbiki®C
SMEAN=2.0
SIGMA=1.0
ALPHA=2.0
B ETA=1.0
THETA=1.0.
Bl=l.
B2=2.
BET1=0.01
BET2=0.01

BETA1=0.



BETA2=0.
ICOUNT=0
NO=0

NI1=0

C*** MAIN PROGRAM 1 **********************C

C*** START PROGRAM **********************C

a O O ©

Cxxxxixx IDENTIFY CONDITION FOR RECODE DEPENDENT VARIABLE **##%%x#C
Ca#xxxkx THIS PROCESS HAS TO CHANGE  WHEN WE CHANGE PARAMETER OF
Cr* THE DISTRIBUTIONS OR DISTRIBUTION *********************************C

3

C*** MAIN PROGRAM ) *******************************C

C*** COMPUTE PARAMETERS BY MAXIMUM LIKELIHOOD

DO 1 N=1,AA

CALL NORMAL(SMEAN,SIGMA,XNOR,IX,IK)
X(N)=XNOR

CALL WEIBUL(ALPHA,BETA ,XWELIX)
X(N)=XWEI

CALL EXPO(THETA,XEXP,IX)

X(N)=XEXP

ERR(N)=IDU(-1,1)
Y(N)=B1+(B2*X(N))+ERR(N)

IF ((Y(N).GE.-0.5).AND.(Y(N).LE.0.5)) GO TO 2
[F ((Y(N).LE.-2).OR.(Y(N).GE.2)) GO TO 2

IF ((Y(N).GE.-0.5).AND.(Y(N).LE.0.5)) GO TO 2
IF ((Y(N).LE.-3).OR.(Y(N).GE.3)) GO TO 2

[F ((Y(N).GE.-0.3).AND.(Y(N).LE.0.3)) GO TO 2
Y(N)=1

NI=NI1+1

CONTINUE

GOTO3

Y(N)=0

NO=NO+1

GOTO1

IF ((NI.NE.NN1).AND.(NO.NE.NN0)) GO TO 9

DO 28 1=1,2
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U(1.1)=0.0
DO 28 J=1,2
H(1.J)=0.0
28 CONTINUE
111 DO 333 N=1.AA
ADDER = BET1+(BET2*X(N))
EAD=EXP(ADDER)
PIX=EAD/(1.+EAD)
DO 16 I=12
IF (LEQ.1) THEN
U(L,1)=U(I,1)+ (Y(N)-PIX))
ELSE
UL D=U(L1D+HXMN)*(Y(N)-PIX))
ENDIF
DO 16 J=1,2
IF (LEQ.1).AND.(J.EQ.1)) THEN
H(L))=H(LI)+((-1)*PIX*(1-PIX))
ELSE IF ((1.EQ.1).AND.(J.EQ.2)) THEN
H(LD)=H(LI)+((-1)*X(N) *PIX*(1-PIX))
ELSE IF ((LEQ.2).AND.(J.EQ.1)) THEN
H(L)=H(LI+((-1)*X(N) *PIX*(1-PIX))
ELSE
H(LY)=H(LIH(-1)*(X(N)**2) *PIX*(1-PIX))
ENDIF
16  CONTINUE
333 CONTINUE
CALL INV2(H,HI2)
CALL MULT(HLU,HIU,2,2.1)
BETAI=(BETI-HIU(1 1))
BETA2=(BET2-HIU(2,1))
ER1=ABS(BETI-BETAI)
ER2=ABS(BET2-BETA2)
ICOUNT=ICOUNT+1
IF ((ER1.LT.0.0000001).AND.(ER2.LT.0.0000001)) THEN



GO TO 555

ELSE
DO 181=1.2
U(1,1)=0.0
DO 18 J=1,2
H(I,J)=0.0

18  CONTINUE
GOTO 111
ENDIF

C*** CLASSIFICATION FOR WLS METHOD EREEREC

555 NN=0
DO 91 I1=1,AA
FLAG=0
DO 991 I2=1,NN
IF (A(I2,1).EQ.X(I1)) THEN
A(12,2)=A(12,2)+1
IF (Y(I1).EQ.1) A(I2,3)=A(12,3)+1
FLAG=1
ENDIF
991 CONTINUE
IF (FLAG.EQ.0) THEN
NN=NN+1
A(NN,1)=X(I1)
A(NN,2)=A(NN,2)+1
IF (Y(I1).EQ.1) A(NN,3)=A(NN,3)+1
ENDIF
91 CONTINUE
CALL DISC(DB1,DB2,X.Y,AA)
CALL WLS(WB1,WB2,A,NN,PI)

CALL SE(BETI,BET2,X,Y,AA,HRMSE,HDV)

CALL SE(DB1,DB2,X,Y,AA,.DRMSE.DDV)

CALL COMP(WBI1,WB2,A,PI NN,WRMSE, WDV)

SHRMSE=SHRMSE+HRMSE

166



SHDV=SHDV+HDV
SDRMSE=SDRMSE+DRMSE
SDDV=SDDV+DDV
SWRMSE=SWRMSE+WRMSE
SWDV=SWDV+WDV
PLUS = PLUS+1
IF (PLUS.EQ.LP) GO TO 22
9 CONTINUE
22 WRITE(6,*) SWRMSE/LP,SDRMSE/LP,SHRMSE/LP
WRITE(6,*) SWDV/LP,SDDV/LP,SHDV/LP
200 CONTINUE
100 CONTINUE
STOP
END

C*******************************************C

C*** DISCRIMINANT FUNCTION ***%kkkkssck sk
CHHH AR AR AR KR AR AR R K AR AR A

SUBROUTINE DISC(B1,B2,X,Y.AA)

DIMENSION  Y(1000,X(100),SQRY(100),SQRX(100),SQRX0(100),SQRX1(100)

INTEGER AA

REAL MEANY,MESX0,MESX1,CETA0,CETA1.,VAR

SUMY=0.0

SUMX=0.0

SMSQY=0.0

SMSQX=0.0

SMSQX0=0.0

SMSQX1=0.0

$X0=0.0

SX1=0.0

M0=0.0

M1=0.0

VAR=0.0

B1=0.0

B2=0.0
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DO 99 N=1,AA
SQRY(N)=Y(N)**2
SQRX(N)=X(N)**2
SUMY=SUMY+Y(N)
SUMX=SUMX+X(N)
SMSQY=SMSQY+SQRY(N)
SMSQX=SMSQX+SQRX(N)
IF (Y(N).EQ.0) THEN
SX0=SX0+X(N)
MO0=M0+1
SQRXO(N)=X(N)**2
SMSQX0=SMSQX0+SQRX0(N)
ENDIF
IF (Y(N).EQ.1) THEN
SX1=SX1+X(N)
MI=M1+1
SQRXI(N)=X(N)**2
SMSQX 1=SMSQX 1+SQRX1(N)
ENDIF
CONTINUE
SQSMX0=SX0**2
VARX0=((SMSQX0-(SQSMX0/MO0)))/(M0-1.))
SQSMX1=8SX1**2
VARX1=((SMSQXI-(SQSMX1/M1)))/(M1-1.))
SQSMY=SUMY**2
MEANY=SUMY/(AA-1.)
STANY=SQRT((SQSMY/(AA-1.)))//(AA-2.))
MESX0=SX0/M0
MESX1=SX1/M1
SQMX0=MESX0**2
SQMX1=MESX1**2
CETA1=MI/AA
CETA0=1.-CETAI

VAR=(((MO0-1.)*VARXO0)+((M1-1.)*VARX1))/(M0+M1-2.)
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B1=ALOG(CETA1/CETAO) - ((0.5*(SQMX1-SQMX0))/VAR)
B2=(MESX1-MESX0)/VAR

RETURN

END

C*******************************************C

C*** WEIGHT LEAST SQUARE METHOD ******C
L T
SUBROUTINE WLS(B1,B2,A,NN,PI)
DIMENSION A(100,3),P1(100),PII(100),WI(100),W(100,2),Z(100,1), WT(2,100), WTW(2,2),
* WTZ(2,1),WTWI(2,2),B(2,1)
DO 999 I=1,NN
PI(D=(A(I,3)/A(1,2))
IF (PI(I).EQ.0) THEN
PII(I)=0.5/NN
WI(D=1./PII(1)*(1.-PIK1)))
ELSE
PI(I)=(NN-0.5)/NN
WI(D=1./(PII(I)*(1.-PII(1)))
ENDIF
Z(1,1)=SQRT(WI(1))*PI(I)
999 CONTINUE
DO 1 I=I,NN
DO 1 J=1,.2
IF (J.EQ.1) THEN
W(LJ)=SQRT(WI(I))
ELSE
W(LJ)=SQRT(WI(1))*A(L,1)
ENDIF
1 CONTINUE
DO 10 J=1.2
DO 10 I=1,NN
WT(,D=W(1,J)
10 CONTINUE
CALL MULT(WT,W,WTW,2,100,2)



CALL INV2(WTW,WTWI,2)
CALL MULT(WT,Z,WTZ,2,100,1)
CALL MULT(WTWI,WTZ,B,2,2,1)
WBI1=B(1,1)

WB2=B(2,1)

RETURN

END

C*********************************************C

C*** COMPUTE RMSE & DEVEINCE FOR WLS **C

C*********************************************C

SUBROUTINE COMP(B1,B2,PI,A,NN,XRMSE,XDV)
DIMENSION A(100,3),PI(100)

REAL PN

XMSE=0.0

XRMSE=0.0

XDV=0.0

SSE=0.0

SDV=0.0

DO 11 I=1NN

ADDER=BI1+(B2*A(L,1))
EAD=EXP(ADDER)
PN=EAD/(1.+EAD)
SSE=SSE+((PI(I)-PN)**2)
SDV=SDV+(PN*ADDER)+(ALOG(1.-PN)))

CONTINUE

XMSE=SSE/(NN-2.)

XRMSE=SQRT(XMSE)

XDV=(-2*SDV)

RETURN

END

C***************************************************C

C*** COMPUTE RMSE & DEVEINCE FOR DF AND MLE

C***************************************************C

SUBROUTINE SE(B1,B2,X,Y,AA,XRMSE,XDV)
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C******************************************C

C*** SUBPROGRAM MUBTIPLICATIONuss$3¥%*C

C******************************************C

10

20

DIMENSION X(100),Y(100)

INTEGER AA

REAL PN

XMSE=0.0

XRMSE=0.0

XDV=0.0

SSE=0.0

SDV=0.0

DO 11 I[=1,AA
ADDER=B1+(B2*X(I))
EAD=EXP(ADDER)
PN=EAD/(1.+EAD)
SSE=SSE+((Y(I)-PN)**2)

SDV=SDV+((PN*ADDER)}+(ALOG(1.-PN)))

CONTINUE
XMSE=SSE/(AA-2.)
XRMSE=SQRT(XMSE)
XDV=(-2*SDV)
RETURN

END

SUBROUTINE MULT(A,B,C,M,N,NA)
DIMENSION A(M,N),B(N,NA),C(M,NA)

DO 10 I=1,.M
DO 10 J=1,NA
C(1,J)=0.0
CONTINUE
DO 20 I=1.M
DO 20 J=I,NA

DO 20 K=I,N

C(LI)=C(LI)+A(ILK)*B(K,J))

CONTINUE
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RETURN
END

C******************************************C

C*** SUBPROGRAM INVERS MATRIX FOR 2x2

C******************************************C

SUBROUTINE INV2(A,C,N)
DIMENSION A(N,N),C(N,N)
REAL DET
DETA=(A(1,1)*A(2,2))-(A(2,1)*A(1,2))
A(1,2)=-A(1,2)
A(2,1)=-A(2,1)
T=A(1,1)
A(1,1)=A(2,2)
A(2,2)=T
DO 10 I=1.N
DO 10 J=I,N
C(1,J)=A(1,J)/DET

- CONTINUE

RETURN
END

C*********************************************C

C*** NORMAL DISTRIBUTION *#*kkkak ks sonk

C*********************************************C

SUBROUTINE NORMAL(SMEAN,SIGMA XNOR,IX.IK)
PI=22./7.

[F (IK.EQ.1) GO TO 10

CALL RANDOM(IX,RD)

RONE=RD

CALL RANDOM(IX,RD)

RTWO=RD
ZONE=SQRT(-2*ALOG(RONE))*COS(2*PI*RTWO)
ZTWO0=SQRT(-2*ALOG(RONE))*SIN(2*PI*RTWO)
XNOR=ZONE*SIGMA+SMEAN

IK=1



RETURN

10 XNOR=ZTWO*SIGMA+SMEAN
IX=0

20 RETURN
END

C*********************************************C

C*** EXPONENTIAL DISTRIBUTION *¥***kkkkkokokk
CHR*FHAARAAA AR A AR KRR AR AR AR A KA AR KA A
SUBROUTINE EXPO(THETA,XEXP,IX)

CALL RANDOM(IX,RD)
XEXP=(-ALOG(RD))*THETA
RETURN

END

C*********************************************C

C*** WEIBUL DISTRIBUTION ***% ko sk sk ok O
CHHFHA A AR AR AR AR AR K KKK K KK o
SUBROUTINE WEIBUL(ALPHA.BETA XWELIX)
CALL RANDOM(IX,RD)
WK=-ALOG(1.-RD)
AX=1.0/ALPHA
XWEI=BETA*(WK**AX)
RETURN
END

C*********************************************C

C*** DISCRETE UNIFORM DISTRIBUTION *****%C
CHFFAAAARAKAAR AR AA A KA KA AR AK A KA (O
INTEGER FUNCTION IDU(LJ)
INTEGER 1,1,]]
REAL C
IF (LLE.J) THEN
JJ=J-1+1
CALL RANDOM(IX,RD)
C=RD*]J
JJ=INT( C)
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IDU=I+]J
ELSE

IDU=-9999
ENDIF
RETURN
END

C*******************************************C

C*** SUBPROGRAM RANDOM ***kxkxskkkkkk s
CHHFFRA AR AR KA AR AA KA KA AA AR AA A A KA AR AR KA A (O
SUBROUTINE RANDOM(IX,RD)
[Y=IX*16807
IF (1Y) 5,6,6
5 [Y=1Y+2147483647+1
6 RD=IY
RD=RD/2147483647
IX=IY
RETURN
END
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C*** PROGRAM FOR TWO VARIABLES *C
C**% MAIN PROGRAM **kskskokonkok sk sk ko k ok (O
DIMENSION  Y(100), X(100), Z(100),ERR(100), U(3,1), H(3,3), HI(3,3) , HIU(3,1),
. M(4), PR(10), A(100,4), PI(100)
INTEGER AA
COMMON IK
[X=97325
IK=0
C*** NUMBER OF SAMPLE ** % skskokkksksskshok ok
DATA (M(IS), IS=1,4)/20,40,60,80/
DO 100 IS=1,4
AA=M(IS)
C*** PROBILITY OF Y=] ****xskskir sk
DATA (PR(IP),IP=1,10)/50,55,60,65,70,75,80,85,90,95/
DO 200 IP=1,10
NN I1=(PR(IP)*M(IS))/100
NNO=M(IS) - NNI
C*** AMOUNT OF LOQP **ksksskskskskossk ks ks sk
LP=500
LOOP=2000000
DO 9 L=1,LOOP
C*** SET INITIAL PARAMEN BR™ET1 > tisedrrQ
SMEAN=2.0
SIGMA=1.0
ALPHA=2.0
B ETA=1.0
THETA=1.0.
Bl=1.
B2=1.
B3=2.
BET1=0.01
BET2=0.01
BET3=0.01
BETA1=0.



BETA2=0.
BETA3=0.
ICOUNT=0
NO=0
N1=0
C*** MAIN PROGRAM | **xsskskskoskokskoskssskkkkok %% O
C*** START PROGRAM **kkokskskossoksssok sk k444 % O
DO I N=1,AA
CALL NORMAL(SMEAN,SIGMA,XNOR,IX,IK)
X(N)=XNOR
c CALL WEIBUL(ALPHA,BETA,XWELIX)
c Z(N)=XWEI
CALL EXPO(THETA,XEXP,IX)
Z(N)=XEXP
ERR(N)=IDU(-1,1)
Y(N)=B1+(B2*X(N))+(B3*Z(N))+ERR(N)
Crx*xxxxxx [DENTIFY CONDITION FOR RECODE DEPENDENT VARIABLE ******x**C
IF ((Y(N).GE.-0.5).AND.(Y(N).LE.0.5)) GO TO 2
IF ((Y(N).LE.-2).OR.(Y(N).GE.2)) GO TO 2
C [F ((Y(N).GE.-0.5).AND.(Y(N).LE.0.5)) GO TO 2
IF ((Y(N).LE.-3).0R.(Y(N).GE.3)) GO TO 2
C IF ((Y(N).GE.-0.3).AND.(Y(N).LE.0.3)) GO TO 2
Y(N)=I1
NI1=NI+1]
1 CONTINUE
GOTO3
2 Y(N)=0
NO=NO+1
GOTO 1
3 IF ((N1.NE.NN1).AND.(NO.NE.NN0)) GO TO 9
CF** MAIN PROGRAM 2 *¥kkkskok sk sk ok koo sk ok ok s e e o (O
C*** COMPUTE PARAMETERS BY MAXIMUM LIKELIHOOD
DO 391=13
U(I1,1)=0.0
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DO 28 J=13
H(1.))=0.0
39  CONTINUE
111 DO 333 N=1,AA
ADDER = BET1+(BET2*X(N))+(BET3*Z(N))
EAD=EXP(ADDER)
PIX=EAD/(1 +EAD)
DO 16 I=13
IF (LEQ.1) THEN
U(L,1D=U(L, 1)+ (Y(N)-PIX))
ELSE IF (.EQ.2) THEN
U(L D=U(, D+HX(NY*(Y(N)-PIX))
ELSE
U(L1)=U(L, D+HZ(N)*(Y(N)-PIX))
ENDIF
DO 31 J=13
IF ((LEQ.1).AND.(J.EQ.1)) THEN
H(LJ)=H(LJ)+((-1)*PIX*(1-PIX))
ELSE IF (.LEQ.1).AND.(J.EQ.2)) THEN
H(LD=H(LD+((-1)*X(N) *PIX*(1-PIX))
ELSE IF ((LEQ.1).AND.(J.EQ.3)) THEN
H(L)=H(L)+((-1)*Z(N) *PIX*(1-PIX))
ELSE IF ((1.EQ.2).AND.(J.EQ.1)) THEN
H(LD)=H(L))+((-1)*X(N) *PIX*(1-PIX))
ELSE IF ((.EQ.2).AND.(J.EQ.2)) THEN
H(LI)=H(L)+((-1)*(X(N)**2) *PIX*(1-PIX))
ELSE IF ((1.EQ.2).AND.(J.EQ.3)) THEN
H(L)=H(LD)+((-1)*X(N)*Z(N) *PIX*(1-PIX))
ELSE IF ((.EQ.3).AND.(J.EQ.1)) THEN
H(L)=H(L))+((-1)*Z(N) *PIX*(1-PIX))
ELSE IF ((LEQ.3).AND.(J.EQ.2)) THEN
H(LD=H(L))+((-1)*X(N)*Z(N) *PIX*(1-PIX))
ELSE

H(LD=H(LD+H(-1)*(Z(N)**2) *P1X*(1-PIX))
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ENDIF
31 CONTINUE
333 CONTINUE
CALL INV3(H,HI
CALL MULT(HIL,U,HIU,3,3,1)
BETAI=(BET1-HIU(1,1))
BETA2=(BET2-HIU(2,1))
BETA3=(BET3-HIU(3,1))
ER1=ABS(BET1-BETA1)
ER2=ABS(BET2-BETA2)
ER3=AMS(BET3-BETA3)
ICOUNT=ICOUNT+1
IF ((ERI.LT.0.000000I).AND.(ER2.LT.0.0000001).AND.(ERO.LT.0.000000I)) THEN
GO TO 555
ELSE
DO 32 [=1,3
U(L,1)=0.0
DO 32 J=13
H(L,J)=0.0
32 CONTINUE
GOTO 111
ENDIF -
C*** CLASSIFICATION FOR WLS METHOD ***#**C
555 NN=0
DO 91 I[1=1,AA
FLAG=0
DO 991 12=1,NN
IF ((A(12,1).EQ.X(I1)).AND.(A(I2,2).EQ.Z(I11))) THEN
A(12,3)=A(12,3)+1
IF (Y(I1).EQ.1) A(12,4)=A(I2,4)+1
FLAG=1
ENDIF
991 CONTINUE
[F (FLAG.EQ.0) THEN
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NN=NN+1
A(NN,1)=X(I1)
A(NN.2)=Z(11)
A(NN,3)=A(NN,3)+1
[F (Y(I1).EQ.1) A(NN.,4)=A(NN 4)+]
ENDIF
91 CONTINUE
CALL DISC(DB1,DB2,DB3,X,Y,Z,AA)
CALL WLS(WBI1,WB2,WB3,A NN,PI)
CALL SE(BET1,BET2,BET3.X,Y,AA,HRMSE,HDV)
CALL SE(DBI1,DB2,DB3,X,Y,AA DRMSE,DDV)
CALL COMP(WBI1,WB2,WB3,A,PI,NN,WRMSE,WDV)
SHRMSE=SHRMSE+HRMSE
SHDV=SHDV+HDV
SDRMSE=SDRMSE+DRMSE
SDDV=SDDV+DDV
SWRMSE=SWRMSE+WRMSE
SWDV=SWDV+WDV
PLUS = PLUS+I
IF (PLUS.EQ.LP) GO TO 22
9 CONTINUE
22 WRITE(6,*) SWRMSE/LP,SDRMSE/LP,SHRMSE/LP
WRITE(6,*) SWDV/LP,SDDV/LP,SHDV/LP
200 CONTINUE
100  CONTINUE
STOP
END

C*******************************************C

C*** DISCRIMINANT FUNCTION **#*ksksssnsC
C*******************************************C

SUBROUTINE DISC(B1,B2,B3,X,Y,Z,AA)

DIMENSION  Y(1000,X(100),Z(100),XS0(2),XS1(2),U(2,2),SX0(2),SX1(2),

= SXZ(2),50(2,2),S1(2,2),EFF(2,2),E1(2,2),UMI(2,1 ),UPL(2,1),
* UMIT(1,2),BM(1,2)



INTEGER AA
REAL MOMI
M0=0.0
M1=0.0
B1=0.0
B2=0.0
DO 19 I=1,2
XS0(1)=0.0
XS1(1)=0.0
SX0(I)=0.0
SX1(I)=0.0
SXZ(1)=0.0
19 CONTINUE
DO 222 N=1,AA
IF (Y(N).EQ.0) THEN
MO=MO0+1
XS0(1)=XS0(1)+X(N)
XS0(2)=XS0(2)+Z(N)
ELSE
MI=MI1+1
XS1(1)=XS1(1)+X(N)
XS1(2)=XS1(2)+Z(N)
ENDIF
222 CONTINUE
DO 21 I=1,2
U(I,1)=XS0(I1)/M0
U(1,2)=XS1(I)/M1
21  CONTINUE
DO 22 [=1,2
UMI(I,1)=U(1,2)-U(1,1)
UPL(L,1)=U(1,2)+U(L,1)
UMIT(1,)=UMI(,1)
22 CONTINUE
DO 333 N=1,AA
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IF (Y(N).EQ.0) THEN
SXO(1)=SX0(1 H((X(N)-U(1,1))**2)
SX0(2)=SX0(2)+(Z(N)-U(2,1))**2)
SXZ(1)=SXZ(1+((X(N)-U(1,1))*(Z(N)-U(2,1)))

ELSE
SXT(1=SX1(1)+((X(N)-U(1,2))**2)
SX1(2)=SX1(2+(Z(N)-U(2,2))**2)
SXZ(2)=SXZ(2)+(X(N)-U(1,2))*(Z(N)-U(2,2)))

ENDIF

333 CONTINUE
DO 24 I=12

DO 24 J=1,2

IF (L.EQ.J) THEN
SO(I,J)=SX0(J)/(M0-1.)
SI(ILI=SX1())/(M1-1.)

ELSE
SO(L,)=SXZ(1)/(MO-1.)
SIILN=SXZ(2)/(M1-1.)

ENDIF

24 CONTINUE
DO 25 I=1,2
DO 25 J=1,2
EFF(L)=(((MO-1.)*SO(L,))+((M1-1.)*S1(,))/(M0+M1-2.)

25 CONTINUE

CALL INV2(EFF,EL2)

CALL MULT(UMIT,EI,BM,1,2,2)

CALL MULT(BM,UPL,BMU,1,2,1)

CETAI=MI1/AA

CETA0=1.-CETAI

B1=ALOG(CETA1/CETA0)-(0.5*BMU)

B2=BM(1,1)

B3=BM(1,2)

RETURN

END
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C*******************************************C

C*** WEIGHT LEAST SQUARE METHOD ******C
-
SUBROUTINE WLS(B1,B2,B3,A,NN,PI)

DIMENSION  A(100,4), PI(100),PII(100),WI(100),ZI(100,1),W(100,3),

* WT(3,100),WTW(3,3),WTWI(3,3),WTZ(100,1),BE(3,1)

DO 999 I=1,NN

PI(I)=A(1,3)/A(1,2)

IF (PI(I).EQ.0) THEN
PII(1)=0.5/NN
WI(D=1./(PII(1)*(1.-PII(I)))

ELSE
PII(I)=(NN-0.5)/NN
WI(D)=1./(PII(1)*(1.-PIL(I)))

ENDIF

ZI(1,1)=SQRT(WI(1))*PI(I)

999 CONTINUE
DO 1 I=I,NN
DO 1 J=1;3
IF (J.EQ.1) THEN
W(L)=SQRT(WI(I))
ELSE IF (J.EQ.2) THEN
W(L)=SQRT(WI(I))*A(L,1)
ELSE
W(I,J)=SQRT(WI(1))*A(1,2)
ENDIF
1  CONTINUE
DO 10 J=1,3
DO 10 I=1,NN
WTU,D=W(,))
10 CONTINUE
CALL MULT(WT,W,WTW,3,100,3)
CALL INV3(WTW,WTWI

CALL MULT(WT,ZI,WTZ,3,100,1)
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CALL MULT(WTWIWTZBE,3,3,1)
B1=BE(1,1)

B2=BE(2,1)

B3=BE(3,1)

RETURN

END

C*********************************************C

C*** COMPUTE RMSE & DEVEINCE FOR WLS **C

C*********************************************C

SUBROUTINE COMP(B1,B2,B3,PILA,NN,XRMSE,XDV)
DIMENSION A(100,4),PI(100)

REAL PN

XMSE=0.0

XRMSE=0.0

XDV=0.0

SSE=0.0

SDV=0.0

DO 11 I[=1,NN
ADDER=BI1+(B2*A(l,1))+(B3*A(L,2))
EAD=EXP(ADDER)

PN=EAD/(1.+EAD)
SSE=SSE+((PI(I)-PN)**2)
SDV=SDV+((PN*ADDER)+(ALOG(1.-PN)))
CONTINUE

XMSE=SSE/(NN-3.)

XRMSE=SQRT(XMSE)

XDV=(-2*SDV)

RETURN

END

Ok ko ok koo oK o ok KK KoK oK R KK Rk K ok Kk (O

C*** COMPUTE RMSE & DEVEINCE FOR DF AND MLE

O ks ok sk ok SR KR SRR S K K kK Sk K o koK ko (O

SUBROUTINE SE(B1,B2,B3,X,Y,AA,XRMSE,XDV)
DIMENSION X(100),Y(100)
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INTEGER AA
REAL PN
XMSE=0.0
XRMSE=0.0
XDV=0.0
SSE=0.0
SDV=0.0
DO 11 I=1,AA
ADDER=B 1+(B2*X(I))+(B3*Z(1))
EAD=EXP(ADDER)
PN=EAD/(1.+EAD)
SSE=SSE+((Y(I)-PN)**2)
SDV=SDV+((PN*ADDER)}+(ALOG(1.-PN)))
11 CONTINUE
XMSE=SSE/(AA-3.)
XRMSE=SQRT(XMSE)
XDV=(-2*SDV)
RETURN
END

C******************’k***********************C

C*** SUBPROGRAM MULTIPLICATION *****%%C
CHRXAREE AR AAKAAAAA KA KK AAAKAAA KK F AR KA
SUBROUTINE MULT(A,B,C,M,N,NA)

DIMENSION  A(M,N),B(N,NA),C(M,NA)
DO 10 I=1,M
DO 10 J=1,NA
C(1,J)=0.0
10 CONTINUE
DO 20 I=1,M
DO 20 J=1,NA
DO 20 K=I,N
CLI)=CLI)+AUK)*B(K,J)))
20 CONTINUE
RETURN



END

C******************************************C

C*** SUBPROGRAM INVERS MATRIX FOR 2x2
koo ok ook ook R oo K K oo ook ok (O
SUBROUTINE INV2(A,C,N)
DIMENSION  A(N,N).C(N.N)
REAL DET
DETA=(A(1,1)*A(2,2))-(A(2,1)*A(1,2))
A(1,2)=-A(1,2)
A(2,1)=-A(2,1)
T=A(1,1)
A(1,1)=A(2,2)

A(2,2)=T
DO 10 I=I,N
DO 10 J=I,N

C(L))=A(LJ)/DET
10 CONTINUE
RETURN
END

C******************************************C

C*** SUBPROGRAM INVERS MATRIX FOR 3x3
L T T PR ————————
SUBROUTINE INV3(A,C)
DIMENSION A(3,3),C(3,3),E(4)
D1=(A(1,1)*A(2,2)*A(3,3)+(A(1,2)*A(2,3)*A(3,1))
* HA(L3)*A(2,1)*A(3,2))
D2=-(A(3,1)*A(2,2)*A(1,3))-(A(3,2)*A(2,3)*A(1,1))
+ -(A(3,3)*A(2,1)*A(1,2))
DET=DI1+D2
DO 30 I=13
DO 30 J=1,3
N=0
DO 20 II=1,3
DO 10JJ=1,3



10

20

30

IF ((ILEQ.I).OR.(JI.EQ.J)) THEN
GO TO 10
ELSE
N=N+1
E(N)=A(11,J))
ENDIF
CONTINUE
CONTINUE
SIGN=(-1)**(I+J)
CU,D=(((E(1)*E(4))-(E(2)*E(3)))*SIGN)/DET
CONTINUE
RETURN
END

C*********************************************C

C*** NORMAL DISTRIBUTION **#*¥sksxssbnksnrC

C*********************************************C

20

SUBROUTINE NORMAL(SMEAN,SIGMA . XNOR,IX,IK)

P1=22.77.

IF (IK.EQ.1) GO TO 10

CALL RANDOM(IX,RD)

RONE=RD

CALL RANDOM(IX,RD)

RTWO=RD
ZONE=SQRT(-2*ALOG(RONE))*COS(2*PI*RTWO)
ZTWO0=SQRT(-2* ALOG(RONE))*SIN(2*PI*RTWO)
XNOR=ZONE*SIGMA+SMEAN

IK=1

RETURN

XNOR=ZTWO*SIGMA+SMEAN

[X=0

RETURN

END

C*********************************************C

C*** EXPONENTIAL DISTRIBUTION ***¥xskkskxxsC
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C*********************************************C

SUBROUTINE EXPO(THETA XEXP,IX)
CALL RANDOM(IX,RD)
XEXP=(-ALOG(RD))*THETA

RETURN

END

C*********************************************C

C*** WEIBUL DISTRIBUTION *** ¥k soxkkokkkkkok kot O
CHH XA AR KA AI AR AR KA AR AR AR AAAAA AR A KRR
SUBROUTINE WEIBUL(ALPHA,BETA XWEL(IX)
CALL RANDOM(IX,RD)
WK=-ALOG(1.-RD)
AX=1.0/ALPHA
XWEI=BETA*(WK**AX)
RETURN
END

C*********************************************C

C*** DISCRETE UNIFORM DISTRIBUTION ¥
CHHFAAAAARE AR AR AR KA AR A AR AAR A KA AR A KK
INTEGER FUNCTION IDU(LJ)
INTEGER 1,J,JJ
REAL C
IF (ILLE.J) THEN
JJ=J-1+1
CALL RANDOM(IX,RD)
C=RD*]J
JJ=INT( C)
IDU=I+]J
EL'SE
IDU=-9999
ENDIF
RETURN
END

C*******************************************C
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C*** SUBPROGRAM RANDOM **kskkskokkokkokk ok
ok sksksok ko ok ok oK ko Kk ok
SUBROUTINE RANDOM(IX,RD)
[Y=IX*16807
IF (1Y) 5,6,6
5 IY=1Y+2147483647+1
6 RD=IY
RD=RD/2147483647
IX=1Y
RETURN
END
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